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I N S T R U C T I O N  T O  C A N D I D A T E S  :
1 .  S E C T I O N - A  i s  G O M P U L S O R Y  c o n s i s t i n g  o f  T E N  q u e s t i o n s  c a r r y i n g  T W O  m a r k s

e a c  h .
2 .  S E C T I O N - B  c o n t a i n s  F I V E  q u e s t i o n s  c a r r y i n g  F I V E  m a r k s  e a c h  a n d  s t u d e n t s

h a s  t o  a t t e m p t  a n y  F O U R  q u e s t i o n s .
3 .  S E C T I O N - C  c o n t a i n s  T H R E E  q u e s t i o n s  c a r r y i n g  T E N  m a r k s  e a c h  a n d  s t u d e n t s

h a s  t o  a t t e m p t  a n y  T W O  q u e s t i o n s .

SECTION-A

1. Write briefly :

a) What is velocity modulation?

b) What are slow wave structures? Give some examples.

c) What is negative resistance?

d) How is impact ionization achieved in IMPATT diode?

e) Define policy implementation process.

0 Define faraday location.

g) What do you understand by Doppler Effect?

h) What limits the sensitivity of a radar receiver?

i) What is transit time and what are its implications?

j) Define Maser.
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SECTION-B

2. With the help of an applegate diagram explain the operation of refler kll"stron'

3. What is Gunn Effect? Explain domain formation in Gunn diode.

4. Describe the operation of a Two-hole Directional Coupler. Calcullte C'oupling Factor if

the power in the primary waveguide is 72 mW and power delrvered to Directional

coupler is 8 mW.

5. How do you distinguish stationary targets and moving targets? Explain principle of

working of MTI Radar.

6. Explain the measurement of Standing Wave Ratio Radar at microwlve liequencies.

SECTION-C

7. What are cross field devices? How does a magnetron sustain its oscillations in this cross

field? Assume n mode for explaining the bunching and phasc focussing effect in

magnetron.

8. a) A three port circulator has an insertion loss of 1 dB, isolation 30 dB and

VSWR: 1.5.  F ind S matr ix .

b) Discuss the performance and application of avalanche diodes.

9. Write a short note on :

a) Backward wave oscillator

b) MonoPulse Tracking
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